
Warm-up:
Identify the transformations 
that map f(x) to g(x).  Then 
write the quadratic function.

 
2

( ) 3 5g x x  

Horizontal shift right 3
Vertical Shift down 5



Axis of Symmetry, the x coordinate of 
the vertex

the y coordinate of the vertex

 ,h k



• The vertex (transformations)
• The axis of symmetry
• Direction of opening
• Vertical Dilation





 4, 4V 

   
2

4 4h x x  

   2,0  and 6,0

    2 6h x x x  



 1.5, 24.5V

   
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2 1.5 24.5r x x   

   2,0  and 5,0

    2 2 5r x x x   



 2, 4V 

   
2

2 4w x x   

   4,0  and 0,0

   4w x x x  



 0, 3V 

  23 3c x x 

   1,0  and 1,0

    3 1 1c x x x  



vertex form; parabola 
opens down, vertex is (1, 9)

general form; parabola opens up, 
y-intercept is (0, 0), axis of 
symmetry is x = - 2

factored form; parabola opens 
down, x-intercepts are (3, 0) and 
(22, 0), axis of symmetry is x = 1/2, 
vertically compressed

vertex form or general form; parabola 
opens up, the y-intercept is (0, - 5), vertex 
is (0, - 5), axis of symmetry is x = 0.







 
2

3 1y a x  

 
2

9 1 3 1a  

 
2

9 2 1a  

9 4 1a 

8 4a

2a     
2

2 3 1f x x  





  4y a x x 

  6 3 3 4a   

  6 3 1a 

6 3a 

2a       2 4f x x x  








